. CUERPO PREFILTRO / Ref. 92406115

1

2.
3.
4.
5.
6.
7.
8.
9.

KIT RACORES PVC D.90 / Ref. 92406330

CESTO PREFILTRO / Ref. 92406110

Oring 180,98 x 6,99 / Ref. 92406175

TAPA PREFILTRO / Ref. 92406100

ARO TAPA PREFILTRO / Ref. 92406105

TAPON CEBADO/DESAGUE MAGNUS 1/2” | Ref. 92402081
JUNTA PLANA TAPON DESAGUE MAGNUS / Ref. 92402087
TUERCA DIN934 M6 / Ref. 96325027

10.
11.
12.
13.
14.
15.
16.
17.
18.

ARANDELA DIN125 D6 / Ref. 96330010 19.
Oring 86 x 5 / Ref. 92406180 20.
TAPA CUERPO BOMBA / Ref. 92406125 21.
TAPON RODETE PLASTICO M8x20 / Ref. 92406165  22.

Oring 270 x 4 / Ref. 92406185 23.
Oring 18 x 4,5 / Ref. 92406170 24,
RODETE 550 NORYL / Ref. 92406150 25.
SELLO D25 (CF 550-750) / Ref. 9012325L 26
CHAVETA DIN6885 5x5x28 / Ref. 92406160

BOMBA SUPRA / ret. 24103020

CUERPO BOMBA / Ref. 92406120

TORNILLO DIN912 M6x105 / Ref. 96303140
TORNILLO DIN912 M6x70 / Ref. 96303125
Oring 91,44 x 5,33 / Ref. 92406190

MOTOR IE3 5,5cv 2850rpm / Ref. 92406055
TORNILLO DIN933 M12x30 / Ref. 96304508
PIE BOMBA MECB8O0 / Ref. 92400406

. PASADOR PIE DIN 1481 M5X24/ Ref. 92400155



PREFILTER BODY / Ref. 92406115

FITTING KIT PVC D.90 / Ref. 92406330
PREFILTER BASKET / Ref. 92406110

Oring 180,98 x 6,99 / Ref. 92406175

PREFILTER COVER / Ref. 92406100

PREFILTER COVER RING / Ref. 92406105

DRAIN PLUG MAGNUS 1/2” | Ref. 92402081

FLAT SEAL DRAIN PLUG MAGNUS / Ref. 92402087
NUT DIN934 M6 / Ref. 96325027

. WASHER DIN125 D6 / Ref. 96330010
11.
12.
13.
14.
15.
16.
17.
18.

Oring 86 x 5 / Ref. 92406180

PUMP BODY COVER / Ref. 92406125

PLASTIC TURBINE PLUG M8x20 / Ref. 92406165
Oring 270 x 4 / Ref. 92406185

Oring 18 x 4,5 / Ref. 92406170

TURBINE 550 NORYL / Ref. 92406150
MECHANIC SEAL D25 / Ref. 9012325L

KEY DIN6885 5x5x28 / Ref. 92406160

SUPRA PUMP / ret. 24103020

19.
20.
21.
22.
23.
24.
25.
26.

PUMP BODY / Ref. 92406120

SCREW DIN912 M6x105 / Ref. 96303140
SCREW DIN912 M6x70 / Ref. 96303125

Oring 91,44 x 5,33 / Ref. 92406190

MOTOR IE3 5,5¢cv 2850rpm / Ref. 92406055
SCREW DIN933 M12x30 / Ref. 96304508
PUMP FOOT MECB8O0 / Ref. 92400406

FOOT UNION DIN 1481 M5X24/ Ref. 92400155



	EXPLOSIONADO_supra
	EXPLOSIONADO_supra-ENGLISH

